
            Knfl6s Knfl6s Knfl6s Knfl6s ˆmfO{n pBf]upBf]upBf]upBf]u    
 
 
 
    
    
    
    
    
    

cf}Bf]lus :sLdcf}Bf]lus :sLdcf}Bf]lus :sLdcf}Bf]lus :sLd    
• kl/ro / k|fljlws kIfkl/ro / k|fljlws kIfkl/ro / k|fljlws kIfkl/ro / k|fljlws kIf    
• cfly{s kIfcfly{s kIfcfly{s kIfcfly{s kIf    

    
    
    
    
    
    
    
    

g]kfn ;/sf/ g]kfn ;/sf/ g]kfn ;/sf/ g]kfn ;/sf/     
pBf]u dGqfnopBf]u dGqfnopBf]u dGqfnopBf]u dGqfno    

3/]n' tyf ;fgf pBf]u ljefu3/]n' tyf ;fgf pBf]u ljefu3/]n' tyf ;fgf pBf]u ljefu3/]n' tyf ;fgf pBf]u ljefu    
lqk'/]Zj/lqk'/]Zj/lqk'/]Zj/lqk'/]Zj/ 

    



    

                Knf;l6s Knf;l6s Knf;l6s Knf;l6s ˆmfO{n ˆmfO{n ˆmfO{n ˆmfO{n pBf]upBf]upBf]upBf]u    
    
cfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutfcfjZostf / pkof]lutf    

 
cfhsn x/]s Joaxf/df /fd|f] / arpsf] b[li6 /fVg lstfj Pj+ d'Noaf6 /lhi6/x?sf] se/sf] ?kdf klg 
kf]lnlyg k|of]u ul/G5 . 3/, cf}lkm;, :s"n, sfn]h;a} hux ˆmfO{nsf] cfjZostf x'G5 . sfuhft x? 
JojlZyt ;'/lIft / ug{sf nfuL klg ˆmfO{nsf] cfjZostf x'G5 . 3/]n' :t/df o;sf] pTkfbg cem} lgs} 
cfjZos b]lvPsf] 5 . Knf;l6s ˆmfO{n x? lgs} alnof] x'G5 / o;sf] 9]/} pkof]uLtf 5 . Knf;l6s ˆmfO{n 
lgDg k|ljlw ckgfO{ agfO{g 5 . 
 

ˆnf] rf6{ˆnf] rf6{ˆnf] rf6{ˆnf] rf6{    
                        
    
    
    
    
    
    
    
    

    
    
    
    
    
    
    
    
    
    
    
    
k|ljlwk|ljlwk|ljlwk|ljlw    
On]lS6«sn cf]egsf] d2tn] kf]lnlyg u|fg'cN;df ePsf] lr;f]kgf x6fPkl5 PS;6'8/sf] xk/df u|fg'cN; 
vGofOG5 . PS;6'8/leq l;ln08/sf] ljleGg efux? /x]sf] x'G5 . h;nfO{ ljleGg tfkqmddf ttfO{ /fv]sf] 
x'G5 / To;leq :qm' x'G5, :qm'sf] d2tn] sDk|]z/sf] xfjfsf] zlQmn] kUn]sf] kf]lnlyg u|fg'cN; lkmNdsf] 
?kdf 8fO{af6 lgsflnG5 . o;/L lg:s]sf] kf]lnlyg lkmNdnfO{ gfGg PS;6'8/sf] dfly Pp6f gfGg] pks/0f 
/fv]sf] x'G5 / lkmNdnfO{ lr;f] kf/L ;s]kkl5 tfgL k6\6fpg] pks/0fåf/ /f]n/x?df k6\6fOG5 . pTkfbgdf 
lau|]sf] lkmNdx? v]/ ghfcf]; eg]/ k|:t't :sLddf Ps u|fg'n]6;{ d]lzg ;dfa]z ul/Psf] 5 . h;sf] 
d2tn] lau|]sf RofltPsf lkmNdnfO{ u|fg'cN;;Fu ldnfP/ l/;fO{lSnË u/L k'gM kf]lnlyg lkmNd pTkfbg ug{ 
;lsG5 . :s|' / Anf]OË k|lqmofaf6 cfjZostfg';f/ ljleGg ;fO{hsf] zL6 pTkfbg ug{ ;lsG5 . lkmNd 
zL6 nfO{ ljleGg ;fO{hdf sl6Ë u/L kmfO{n agfOg 5 . 
 
 

u|fg'cN; cfoft 

On]lS6«sn cf]eg 

PS;6'8/sf] xk/ 

     8fO{af6 

sl6Ë / lkmgLlzË 

 



Jftfj/0fLo kJftfj/0fLo kJftfj/0fLo kJftfj/0fLo kIfIfIfIf    
kf]lnlyg af6 pTkflbt j:t'x? Jftfj/0fdf gsf/fTds c;/ kf/5g . cfh ef]nL o;n] 

u{bf 8«g}hx? Hfd x'g] u/]sf] 5 . T;}n] o;sf] Aoj:yfkg /fd|} ;+u ug{" k5{ . 7+fp 7+fpdf kf]lnlyg an] kl5 
;fO{gfO{8 u}; jftfj/0fdf km}lng5, ;fO{gfO{8 u}; Ps hlx/Lnf u}; xf] h'g ;a}sf] nfuL xlgsf/s 5 . 
o;sf] Joj:yfkg ;xL 9+Ën] ug{" k5 . 
 

 

ahf/ahf/ahf/ahf/    
 Knf;l6s ˆmfO{nx? sf] nfuL g]kfndf clw/fHo e/L ahf/ k|;:y 5 . :s"n, sfn]h, p4f]uJoj;fo, 
;/sf/L sfo{fno ;a} 7fpdf o; sf] cfjZostf kb{ 5 . 
 
 
kl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emnskl/of]hgfsf] emns 
 
 
1= kl/of]hgfsf] gfd M– Knf;l6s ˆmfO{n pBf]u 
2= pTkfbg Ifdtf M– aflif{s #)#&) lsnf], aflif{s #)) lbg, b}lgs * 306f 
3= pTkfbg x'g j:t' M– Knf;l6s ˆmfO{n 
4= sf/vfgf :yfkgf x'g ;Sg] :yfg M– zx/L If]q 
5= s'n k"FhL nufgL 

s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL 

    
?=530000.- 
?=303100.-    

?=833100.-    

6= ljlQo ;+:yfgaf6 qm[0f ;x'lnot— 
s_ bL3{sfnLg C0f  
v_ cNksfnLg C0f  

 

?=320000.- 
?=180000.- 

?=500000.- 

7= d'gfkmfsf] k|ltzt– 
s_ s'n k"FhL nufgLdf 
v_ :jnfut nufgLdf 

 

21.41% 

53.55% 

 

8= a|]s Oeg KjfOG6 -kf/ ljGb'_ 
s_ k|ltztdf 
v_ d'Nodf 

 

54.75% 

?=1160000.- 

 

9= d'gfkmf 
s_ s'n jflif{s pTkfbg lalqmaf6 
v_ s'n jflif{s pTkfbg vr{  

 

?=2118840.- 
?=1940100.- 

?=178380.- 

10= /f]huf/L 
s_ k|ToIf /f]huf/L  

 

12 hjfg 

 

11= d"No clej[l4 31.47%  

 
 
 

l:sdl:sdl:sdl:sd    
l:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0fl:y/ k"FhL ljj/0f 
1= hUufM !÷$ /f]kgL, k|lt /f]kgL ?= #)))).–  ?=100000.- 

2= sf/vfgf 3/ 
s_ sf/vfgf 3/ 6x/f !*Ú X !@ÚÖ @!^ ju{ lkm6 
v_ uf]bfd 3/ !*Ú X !@Ú Ö @!^ ju{ lkm6 

 

 

 

?=170000.- 
 



u_ sfof{no (Ú X !@Ú Ö !)* ju{ lkm6 
   k|lt au{ lkm6 ?= @%).– 
3_ ljB"lts/0f 

 

?=158000.- 
?=120000.- 

3= d]l;g cf}hf/ 
s_ $% ld=ld :qm' Jof;sf] PS;6'8/ d]lzg, $ lsnf]jf6 lx6/, 
&=% c=z sf] ljB't df]6/, ! c=z sf] SDk|];/ ;lxt k'/f ;]6 ! 
b/ ?= !$%))).– 

v_ sl6Ë tyf l;lnË d]lzg, @ lsnf]jf6 lx6/, ! c=z sf] 
ljB't df]6/ ;lxt k'/f ;]6 ! b/ ?= #%))).– 

u_ klGrË d]lzg ;]6 ! b/ ?= ())).– 
3_ 9s, 6/fh' ;]6 ! b/ ?=#))).– 
ª_ cGo pks/0fx? 
r_ d]lzg 9'jfgL tyf eG;f/ %Ü n] 
5_ d]lzg h8fg tyf ljB''lts/0f *Ü n] 
h_] ljljw 

 

 

 

?=145000.- 
 

?=35000.- 
?=9000.- 
?=3000.- 
?=2000.- 
?=9700.- 
?=15520.- 
?=10780.- 

?=230000.- 

4= kmlg{r/ tyf lkmS;r/  ?=20000.- 

5= pBf]udf nufgL cl3sf] vr{  ?=4000.- 

6= pBf]u ;+rfng cl3sf] vr{  ?=6000.- 

s"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhLs"n l:y/ k"FhL        ?=530000.?=530000.?=530000.?=530000.----    

         

rfn' k"FhL lrfn' k"FhL lrfn' k"FhL lrfn' k"FhL ljj/0fjj/0fjj/0fjj/0f         

1= sRrfdfn df}hbft @% lbgsf] nflu ?=97500.-  

2= k|zf]wgdf /xg] # lbgsf] nflu ?=12240.-  

3= tof/L dfnsf] df}Hbft & lbgsf] nflu ?=28560.-  

4= pwf/f] ljqmL c;'ln !) lbgsf] nflu ?=40800.-  

s'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhLs'n rfn' k"FhL        ?=175400.?=175400.?=175400.?=175400.----    

5= s'n k"FhL nufgL 
s_ s'n l:y/ k"FhL 
v_ s'n rfn' k"FhL  

 

?=280000.- 
?=175400.- 

?=455400.- 

jflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vrjflif{s pTkfbg vr{{{{   

1= Xf; s§L 
s_ sf/vfgf 3/ %Ü n] 
v_ d]lzg cf}hf/ !)Ü 
u_ kmlg{r/ tyf lkmS;r/ @)Ü 

 

?=7500.- 
?=11000.- 
?=1200.- 

?=19700.- 

2= aLdf -s'n l:y/ k"FhLdf hUufsf] d'No jfx]s_ !Ü  ?=2725.- 
3= Jofh -lb3{sfnLg qm[0f_ !&)))).– !^Ü   ?=27200.- 

4= ck|ToIf sd{rf/L vr{– 
s_ Joj:yfks ! dfl;s ?=@!)).– n] 
v_ n]vfkfn !, dfl;s ?= !*)).– n] 
u_ lkog tyf kfn] !, dfl;s ?=*%).– n] 

 

?=25200.- 
?=21600.- 
?=10200.- 

?=57000.- 
 

5= sfof{no tyf cGo vr{ 
s_ d;nGb 
v_ lj1fkg 
u_ eQf kl/jxg 
3_ cGo b:t'/ 
ª_ ljlj3 

 

?=3000.- 
?=1000.- 
?=4000.- 
?=2000.- 
?=2000.- 

?=12000.- 



6= n]vfkl/If0f vr{  ?=3875.- 

s'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ Ms'n l:y/ vr{ M        ?=122500.?=122500.?=122500.?=122500.----    

7= sRrfdfn 
s_ xfO{8]lG;6L kf]lnlyg u|fg'cN; @!))) lsnf] k|lt lsnf] ?= 
^%.– n] 

v_ /Ë !)) lsnf] b/ ?= *)).– n] 
u_ ljljw 

 

 

?=1365000.- 
?=80000.- 
?=7000.- 

?=840000.- 

8= k|ToIf sfdbf/ vr{ 
s_ bIf sfdbf/ !, dfl;s ?= !*)).– n] 
v_ cw{bIf sfdbf/ #, dfl;s ?= !%)).– n] 
u_ ;xfos sfdbf/ #, dfl;s ?= ()).– n] 

 

?=25200.- 
?=43200.- 
?=72000.- 

?=140000.- 
 

9= pTkfbg tyf cGo vr{ 
s_ OGwg 
v_ lu|h t]n df]ljn 
u_ dd{t ;+ef/ tyf hu]8f kf6{k"hf{ 
3_ ljljw 

 

?=2400.- 
?=3600.- 
?=12000.- 
?=2400.- 

?=99000.- 
 

10= Aofh cNksfnLg C0f ?= !))))) sf] !*Ü n]  ?=18000.- 

s'n rn vr{s'n rn vr{s'n rn vr{s'n rn vr{     ?=997200.- 

jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{jflif{s pTkfbg vr{  ?=1119700.- 

      

jflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgLjflif{s pTkfbgaf6 cfDbfgL    
s_ Knf;l6s ˆmfO{n @)#&) k|lt lsnf] ?= !)$.– n] 

 

?=585000.- 
?=1227500.- 

d'gfkmfd'gfkmfd'gfkmfd'gfkmf    
s_ s'n jflif{s pTkfbgaf6 cfDbfgL 
v_ s'n jflif{s pTkfbg vr{  

 

?=2118840.- 
?=1940100.- 

?=178380.- 

d'gfkmfsfd'gfkmfsfd'gfkmfsfd'gfkmfsf] k|ltkmnM] k|ltkmnM] k|ltkmnM] k|ltkmnM      

s"n k"FhL nufgLdf 21.41%  

OSjL6L nufgLdf 53.55%  

d"No clea[l4 31.47%  

 


